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20168 = =3 3 3
M1 X 20169 % AME - M= 0asSH & 3AHEZ LA NLE = A= FHOH2 U 20 (ol M)
+ =2 Ng - HE0&tEN 2 Al Xt Bt N
g A 612,857,367 18,385,721
& B3 Al 566,765,293 17,002,959
SEE3A 46,092,074 1,382,762
SILSES A 38,021,581 1,140,647
St ALY SE3H 23,018,908 690,567
=AY SE3 15,002,673 450,080
JIEtSE3 A 8,070,493 242,115
2 E2SH SE3A 1,931,704 57,951
s3EXxd S 1,840,548 55,216
FUASAMY S 1,777,845 53,335
AZXFAHNEAMNS SEAH 2,078,443 62,353
F=AEAMY SE3 441,953 13,259
M 2= M. As0ad Shls 88 "M . AMSOH "D 20,
H 3 X 2016 HRREY 9= [HLEAS|2=2 St
M4 & B3 odlbdl= 11,359,267 322 &L,
Mo 5 & XXM XY s=H2 13,500,000 222 et C.
M 6 =

ANSWEH M47x2 M1 SA AE0 28 =280 ZS8= FH X S 2HUA S22 220 A=s
= o
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